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Abstract of the contribution: This paper proposes a new key issue on how to select positioning access for LCS service when UE accesses 5GC via 3GPP access and non-3GPP access simultaneously.
1.	Discussion
The 5G Access Network comprising a NG-RAN and/or non-3GPP AN connecting to a 5GC core network. Within the NG RAN, one or more following options are supported, e.g. standalone NR, NR is the anchor with E-UTRA extensions, standalone E-UTRA, E-UTRA is the anchor with NR extensions. For Non-3GPP AN, 5GC supports untrusted non-3GPP access, trusted non-3GPP access and fixed access
When UE accesses 5GC via 3GPP access and non-3GPP access simultaneously, or more options were deployed in NG-RAN, which radio access is used for LCS and performing positioning should also be considered.
So it is proposed to add a new key issue, “access selection for LCS service” into the TR 23.731.
2.	Proposal
It is proposed to add a new key issue as following: (all new text)
*** Start of changes ***
[bookmark: _Toc508693930]5.X	Key Issue X: Positioning Access selection for LCS service
[bookmark: _Toc508693931]5.X.1	Description
The 5G Access Network comprising a NG-RAN and/or non-3GPP AN connecting to a 5GC core network. Within the NG RAN, one or more following options are supported, e.g. standalone NR, NR is the anchor with E-UTRA extensions, standalone E-UTRA, E-UTRA is the anchor with NR extensions. For Non-3GPP AN, 5GC supports untrusted non-3GPP access, trusted non-3GPP access and fixed access
When UE accesses 5GC via 3GPP access and non-3GPP access simultaneously, or more options were deployed in NG-RAN, which radio access is used for LCS and performing positioning should also be considered.
This key issue will study:
-	which network function selects the radio access network and/or radio access technology for LCS and performing positioning, especially in 5GC-MT-LR scenario; 
-	how does the network function perform such selection? And based on what kind of criteria and information, e.g. current registered access, to do the selection?
[bookmark: _GoBack]-	Whether PCF is involved or not, if yes, how?
*** End of changes ***
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